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2007-08 Region Competition

Match #3


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Its surface includes regions called Adiri, Xanadu and Shangri-la. It is the only body in the Solar System, other than the Earth, on which there are stable bodies of liquid. Probe visits in 2006 and 2007 revealed a surface remarkably free of craters. It was discovered in 1655 by Christian Huygens (HOY-ghens). Its size was overestimated for decades due to its dense nitrogen atmosphere. What is this largest moon of Saturn? 

ANSWER: Titan
2.
When it was discovered by Karl Lepsius in 1842, it was erroneously thought to be a religious scripture. It includes 42 negative confessions, uttered by the righteous, which include ‘I have not done evil’ and ‘I have not robbed.’ Another section contains stories about the origin of the gods. Other parts contain spells that protect the recently deceased. It also contains a description of a ceremony where the heart of the recently deceased is measured against a feather. What is this Egyptian text about the afterlife? 

ANSWER: The Book of the Dead or The Book of Coming Forth by Day
3.
Part One of this novel is set in Coulibri, Jamaica. Part Two is told by the protagonist’s husband, an unnamed ‘English gentleman;’ in it, Daniel Cosway helps break up the marriage. Part Three is the protagonist’s slide into madness; in it, the protagonist’s husband changes her name from Antoinette to Bertha, and the protagonist is kept in her husband’s mansion, cared for by Grace Poole. What novel by Jean Rhys is about the life of Bertha Mason, the insane wife of Mr. Rochester from Jane Eyre?

ANSWER: Wide Sargasso Sea
4.
Its name comes from the formal assemblies held by the Holy Roman Empire, as the document that created it borrowed heavily from Germany’s system. Its powers have increased since the 1947 MacArthur constitution; it could only provide consent to laws proposed by the Emperor under the Meiji Constitution. The House of Councilors and the House of Representatives are the two houses of what parliament of Japan? 

ANSWER: Japanese Diet (prompt on ‘Japanese parliament’) or Kokkai
5.
If an odd one exists, it must be greater than ten to the 300th power.  Forty-four of them are known, but it is unknown if there are infinitely many of them.  Examples of them include 33,550,336, 8128, and 496.  Name this type of number which is the sum of its positive divisors other than itself. 
ANSWER: perfect number

6.
Literature set during it included Robert Service’s epic poem The Cremation of Sam McGee. It started when George Carmack discovered gold in Rabbit Creek, and caused Dawson City to increase in population to 40,000. Those seeking to participate in it had to have a year’s worth of food, or the Mounties made them leave Canada. What gold rush led thousands to go up to the Yukon Territory in the late 1890s? 

ANSWER: Klondike gold rush or Yukon gold rush

7.
Its name is Greek for ‘hidden thing’ and it was discovered by William Ramsay in 1898 by evaporating the other components of liquid air. It can form clathrates with water and it was combined with fluoride in 1962. Its atomic mass is 83.8 and the meter used to be defined in terms of the orange-red spectral line of its mass number 86 isotope.  Name this noble gas with atomic number 36 and symbol Kr.

ANSWER: krypton
8.
The word yonder once was considered this type of pronoun – it indicated an object far away from both the speaker and addressee. What type of pronoun is used by the speaker to differentiate one entity from other, similar entities, and whose examples in English are this, that, these and those? 

ANSWER: demonstrative pronoun

9.
In 2007, this movie studio sold its music publishing arm, Famous Music, for $370 million. Its Home Entertainment division sells its own DVDs as well as DVDs for MTV and Nickelodeon. In February 2006, it purchased part of DreamWorks SKG. Its logo, which consists of a mountain surrounded by a half-circle of stars, has been around since the 1920s. What Viacom-owned movie studio is associated with Kings Dominion? 

ANSWER: Paramount Pictures
10.
He started his fortune by setting up a lower-cost ferry to compete against Robert Fulton and Robert Livingston. Later on, he set up the Accessory Transit Company to transport gold miners from the East Coast to California. In the late 1860’s, he turned to buying railroads, but met his match when he tried to take over the Erie Railroad from Jay Gould. A statue of him stands outside Grand Central Station. What tycoon made only one major charitable donation: $1 million to a university now named for him in Nashville?

ANSWER: Cornelius Vanderbilt
11.
This novel is set during the 1940s on Chesapeake Bay’s Rass Island. The father, Truitt, is a crabber, while the mother, Susan, was a schoolteacher. The protagonist leaves Rass Island, tired of being ignored because of her twin sister – in fact her twin sister even married her best friend, McCall Purnell. Sara Louise and Caroline Bradshaw are the twins in what Katherine Paterson novel that won the 1981 Newbery Medal? 

ANSWER: Jacob Have I Loved
12.
Although the painter consulted a book by Menasseh ben Israel, the Hebrew characters in this painting are arranged in columns, and not right to left. The title figure of this painting is arrogantly using vessels looted from Solomon’s Temple to serve wine and is staring in alarm to his left as a ghostly hand is writing Mene, Mene, Tekel, Parsin (meh-neh, teh-kel, par-seen) on the wall. What Rembrandt painting, portraying an event from the book of Daniel, pictures a banquet thrown by the last king of Babylonia? 

ANSWER: Belshazzar’s Feast (accept The Feast of Belshazzar)
13.
This term was coined by Gustav Kirchhoff in 1860.  The Rayleigh-Jeans law could not describe its behavior for short wavelengths.  Planck’s law, however, does describe its spectral radiance for all wavelengths.  Name this term for an object that absorbs all electromagnetic radiation that falls onto it.

ANSWER: black body
14.
He and his daughter Lucy wrote a children’s book called George’s Secret Key to the Universe. Since 1980, he has been the Lucasian Professor of Mathematics at Cambridge. In the 1960s, he and Roger Penrose worked together to prove a set of singularity theorems. He lost a bet to Caltech professor Kip Thorne over the nature of black holes. Who is this author of The Universe in a Nutshell, Black Holes and Baby Universes and Other Essays, and A Brief History of Time? 

ANSWER: Stephen Hawking
15.
In 1979, the U.S. government sued The Progressive magazine after it published an article about how to make one; the magazine showed it used public domain sources to write it. In the Soviet Union, it was the result of Andrei Sakharov’s ‘Third Idea.’ It was proven feasible in the ‘Ivy Mike’ test of 1951. It was based on the Teller-Ulam design, which places a fission-based ‘trigger’ near a fusion-based fuel, thus generating enormous destructive power. What bomb was the successor to the atomic bomb? 

ANSWER: hydrogen bomb or H-bomb (DO NOT accept ‘atomic bomb’ or ‘A-bomb,’ accept fusion bomb, and prompt on ‘nuclear bomb/weapon’)
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
In December 2006, eight Virginia churches of what denomination broke away, forming the Anglican District of Virginia? 

ANSWER: Episcopal Church in the United States of America

1B.
William Nolan and George Clayton Johnson wrote what dystopian novel where everyone dies when their palm crystal turns black their 21st birthday, called a Lastday? 

ANSWER: Logan’s Run
2A.
A rhinoplasty is performed on what part of the body?

ANSWER: nose
2B.
THIS IS A COMPUTATION QUESTION. Convert the binary number 1001111 (read as: one-zero-zero-one-one-one-one) into a decimal number.

ANSWER: 79
3A.
The namesake of a university in Boston founded in 1948 is what first Jewish Supreme Court Justice? 

ANSWER: Louis Brandeis
3B.
Deficiency of what vitamin results in night blindness?

ANSWER: vitamin A
4A.
THIS IS A COMPUTATION QUESTION. What is the third pentagonal number?

ANSWER: 12
4B.
Extending southwards from Lake Okechobee is what area of marshlands in southern Florida? 

ANSWER: Florida Everglades
5A.
What word refers to a colorful area of burning gas indicating something is undergoing combustion, to someone’s significant other, or to an Internet posting delivered in a harsh tone? 

ANSWER: flame(s)
5B.
What baseball team moved to Baltimore in 1954 and became the Orioles? 

ANSWER: St. Louis Browns (prompt on “St. Louis”)

6A.
THIS IS A COMPUTATION QUESTION. Factor x squared plus 17x plus 60.

ANSWER: (x plus 5)(x plus 12) (can be said in either order)
6B.
What military formation, whose name comes from the Greek for ‘finger,’ was composed of heavy infantrymen armed with pikes or long spears? 

ANSWER: phalanx
7A.
Between 1958 and 1960, the People’s Republic of China attempted to industrialize in what disastrous program where at least 15 million people died?

ANSWER: Great Leap Forward
7B.
The Jewish ceremony of circumcision is performed by either the boy’s father or someone with what title? 

ANSWER: mohel (pronounced “moil” or MOH-hel)

8A.
Photographer Alfred Stieglitz was married to what artist, associated with New Mexico, who painted Ladder to the Moon and Above the Clouds I? 

ANSWER: Georgia O’Keeffe
8B.
Prince Myshkin falls into insanity in what novel by Fyodor Dostoyevsky? 


ANSWER: The Idiot
9A.
What word in C++ refers to a function that does not return any sort of value?
ANSWER: void
9B.
What is the SI unit for luminous intensity?

ANSWER: candela
10A.
For Latin nouns in the first and second declensions, what is the final letter of the singular accusative case?

ANSWER: m
10B.
THIS IS A COMPUTATION QUESTION. What is the area of a square with a perimeter of 52 meters?

ANSWER: 169 square meters
Third period, 15 toss-ups, 10 points each

1.
He coached Army’s freshman team in 1968. He worked at North Carolina, Air Force, and Texas Tech before taking the head coaching job at Wake Forest between 1981 and 1986. He then became an NFL assistant coach under Bill Parcells. He was head coach of the New York Jets in 2000 before taking his current position in 2001, where he replaced George Welsh. Who is the football coach of the University of Virginia? 

ANSWER: Al Groh
2.
His reign started with placing Shimei under house arrest, exiling the priest Abiathar, and killing his half-brother Adonijah and his general Joab. He built a palace on the hill of Ophel. If you don’t count Menelik I, he had but one son, Rehoboam, with his 700 wives and 300 concubines. He asked the Lord for wisdom, which he showed in a story where he suggested cutting a baby in two. What son of David built the first Jewish Temple and was the last king of a united Israel? 

ANSWER: King Solomon
3.
His story comes from a Sudanese king that refused to pay taxes to the Abbasids by closing gold mines, thus leading to a legend of treasure buried in caves. His brother Cassim dies when he forgets the password. His son takes over Cassim’s business and eventually marries the slave Morgiana. What Arabian Nights character remembered the magic words, ‘Open Sesame,’ and thus got the treasure of the forty thieves? 

ANSWER: Ali Baba
4.
Pliny the Elder believed it was ice that had been permanently frozen. Types of it include morion, prasiolite, aventurine, citrine, jasper, onyx, agate, and chalcedony. This second-most common mineral in the Earth’s continental crust is made of silicon dioxide. What mineral has a Mohs hardness of seven?
ANSWER: quartz
5.
Jan (yahn) Masaryk (MAH-sah-reek) either committed suicide or was the victim of the third of these. The first of these occurred in 1419, and involved a Hussite mob killing city councilmen. The second of these occurred in 1618 after the election of the Catholic Ferdinand II as king, and it was a cause of the Thirty Years’ War. What events, set in the capital of Bohemia, involved pushing disliked people out a window? 

ANSWER: Defenestration of Prague (accept Prague Defenestration)

6.
What type of conic section is x squared plus y squared equals 1600, which is a set of points equidistant from one central point?

ANSWER: circle
7.
This state was the site of the short-lived Popham Colony; its eastern part was once called the Territory of Sagdahock. Its northern border was established by the Webster-Ashburton Treaty. This state, once a part of Massachusetts, was admitted as a free state to balance out Missouri. What state’s capital was moved in 1832 from Portland to Augusta? 

ANSWER: Maine
8.
This word comes from a Greek word describing a tool that makes circles. When it is before the word ‘down,’ it means to reject something. When something is ‘out of’ this word, it means to be out of its correct order. When it goes with ‘the tide,’ it means to reverse something’s momentum. It refers to one player’s move or other action in a game. What is this word that starts with ‘T’? 

ANSWER: turn(s)
9.
Its composer was inspired by a book of Chinese poetry, The Chinese Flute, which had recently been translated into German. In fact, several of its vocal parts are translations of poems written by Li Po. Written between 1908 and 1909, its composer was reluctant to call it his Ninth Symphony; on the other hand, it was a then-novel mixing of song cycle and symphony. What is this work for a tenor, an alto, and an orchestra by Gustav Mahler? 

ANSWER: Das Lied von der Erde or The Song of the Earth
10.
In China, 109 million tons of this is burned a year in underground fires. The United States has nearly as much proven reserves of it as Russia and China combined. It is even distributed around the world, unlike petroleum and natural gas. Graphite is technically a form of it, albeit one that is rarely used as fuel. Lignite, anthracite, and bituminous are the fuel varieties of what mineral that is heavily mined in West Virginia? 

ANSWER: coal
11.
Feste the fool provides some comic relief in this play. The female lead poses as a man named Cesario. When female lead’s twin brother returns, he secretly marries Olivia. The only unhappy character at the end is Malvolio, who had been led to believe Olivia was in love with him. What Shakespeare play ends with the marriages of Toby Belch and Maria, Sebastian and Olivia, and the Duke and Viola? 

ANSWER: Twelfth Night, or What You Will
12.
Price leadership is often demonstrated by the leading firm in this type of market model. If there is a formal collusion agreement between the firms, a cartel is the result. The most common definition of one of these is a market where the four largest firms have more than a 40% market share. From the Greek for ‘few sellers,’ what market model has only a few suppliers of a good? 

ANSWER: oligopoly
13.
The title character was originally ‘pearl-white’ until she landed in a pot of ink. When she wiped off the ink on the nearest scroll, she changed one of her master’s decrees to, ‘People MUST sing until sundown.’ When the people did that, the Foolish Magistrate changed, and became the Wise Magistrate. Baba and Mama Miao are the parents of the title character in what Amy Tan children’s story about a Chinese Siamese cat? 
ANSWER: Sagwa, The Chinese Siamese Cat 
14.
He was shot in the chest in a live-fire exercise in 1991. Senator Bill Frist operated on him, and he was released when he did 50 pushups without resting. Before assuming his current position, he commanded the 101st Airborne Division, the Multi-National Security Transition Command, and the Combined Arms Center at Ft. Leavenworth. Moveon.org was criticized for parodying his name in a September 10 ad in the New York Times. Who is the current commander of U.S. forces in Iraq? 

ANSWER: David Petraeus
15.
Of its 27 species, one is in the genus Premnas and the others are in the genus Amphiprion (am-fih-PREE-awn).  It is native to the Pacific and Indian Oceans, can be hermaphroditic, and has developed a mutual relationship with sea anemones.  Name this brightly colored fish.

ANSWER: clownfish
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
It occurs in one out of every 2500 female births and its symptoms include low-set ears, low hairline, short stature, and sterility.  Other major symptoms are heart disease, aortic dilation, diabetes, thyroid disorders, and kidney abnormalities.  Name this chromosomal abnormality in which a woman has only one X chromosome.

ANSWER: Turner syndrome
2.
Part of this novel is set on Sweet Home Plantation in Kentucky, twenty years before the ‘present day’ events at 124 Bluestone Road in Cincinnati. The protagonist has two sons, Howard and Buglar, that ran away, and a daughter, Denver. A mysterious woman appears that is apparently the protagonist’s other daughter, whom the protagonist murdered twenty years ago to spare the horrors of life in slavery. Sethe (SETH-uh) is the protagonist of what Toni Morrison novel? 

ANSWER: Beloved
3.
This Virginia city was renamed in 1750 after the English city where James Wood was born. During the Civil War, it changed hands 72 times. Its sister city is the old Norman capital of England, the site of a famous cathedral, with which it shares its name. Author Willa Cather and country singer Patsy Cline were born here, and Harry Byrd called this city home. Shenandoah University and the Shenandoah Apple Blossom Festival are held in what northernmost of Virginia’s independent cities? 


ANSWER: Winchester, Virginia

4.
If you shot the UFO on the 23rd, 38th, 53rd, and successive shots, you got the maximum 300 points. If you hung out under the four shields, you couldn’t be harmed, but you couldn’t shoot your enemies. These enemies appeared in eleven columns and five rows, firing their missiles at you and marching left to right. If you lost your three laser cannons or the enemies reached the bottom of the screen, you lost what video game? 
ANSWER: Space Invaders
5.
THIS IS A COMPUTATION QUESTION. If A equals 3, B equals 6, etc., through Z equals 78, what is the numerical value of F times Y times B, given that F equals 18, Y equals 75, and B equals 6?

ANSWER: 8100
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

